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QUESTION 1

An HP Integrity system is inaccessible I he HP response center needs a memory dump to troubleshoot the problem.
The system administrator can access the "CM>" prompt by logging into the iLO port. 

Which command can be used to start the memory dump? 

A. r 3 

B. toc 

C. tc 

D. reboot 

Correct Answer: C 

 

QUESTION 2

Where can a system administrator access the Dynamic Root Disk (DRD) toolset? 

A. System Management Home (SMH) 

B. Ignite-UX (IUX) 

C. Command Line Interface (CLI) 

D. Logical Volume Manager (LVM) 

Correct Answer: C 

 

QUESTION 3

Which command displays all of the network interfaces in the system, including physical LAN interfaces, VLANs, APA
aggregates and failover groups and RDMA interfaces? 

A. link loop 

B. lanadmin 

C. nwmgr 

D. lanscan 

Correct Answer: C 

 

QUESTION 4

A process (PID 2314) forks three other processes (PIDs 84SS. 8469. and 8500). What is the relationship between those
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four PIDs? 

A. All four PIDs are children because, they are running under the same kernel. 

B. All four PIDs are parents because they are running under the same kernel 

C. PID 2314 is the parent, and the other PIDs are its threads. 

D. PID 2314 is the parent, and the other PIDs are its children. 

Correct Answer: D 

 

QUESTION 5

Why would a system administrator prefer patching a software product rather than upgrading it to a newer version? 

A. The patches are free. But product upgrades are not 

B. The application is only certified with a specific software product version 

C. The patches always require less disk space than product upgrades 

D. The product upgrades always require a reboot, but patches do not 

Correct Answer: B 
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